Bigfork Board of Trustees:

To continue in our strive for academic excellence, we bring to you a recommendation to purchase Bridges in Mathematics as a curriculum to be adopted by Bigfork Elementary School.

Bridges is a rigorous PK-5 math curriculum developed by The Math Learning Center, a non-profit organization serving the education community. It has received one of EdReports' highest reviews in math programs, is research-based, and correlates to academic standards (see attached).

Currently, teachers use a variety of resources for math instruction which is not consistent between grade levels. Because we had experienced something similar five years ago in reading and found success with Wonders curriculum and professional development, we believe our students will benefit greatly by adopting this math curriculum. We would also add professional development in instructional coaching to ensure fidelity to the program and instructional practices.

Respectfully, Brenda Clarke

Sales Order Quote



The Math Learning Center P.O. BOX 12929 Salem, OR 97309-0929 1-800-575-8130 Fax 503-961-0132 mathlearningcenter.org Quote Number 00012529

Customer Number 0701446

Quote Date 3/30/2022

Expiration Date 9/15/2022

Address Information

Bill To Name

Bigfork School District 38

Bill To

600 Commerce St

Bigfork, Montana 59911-3677

United States

Ship To Name

Bigfork School District 38

Ship To

600 Commerce St

Bigfork, Montana 59911-3677

United States

Product Code	Product	Quantity	Sales Price	Discount	Total Price
2B0	Bridges 2ED Gr K Package (4 Boxes)	3.00	\$1,500.00		\$4,500.00
2NC0SB5	NUMBER CORNER 2ED GR K STUDENT BOOK 5/PKG	14.00	\$18.00	50.00%	\$126.00
2B0SB5	BRIDGES 2ED GR K STUDENT BOOK 5/PKG	14.00	\$18.00	50.00%	\$126.00
2B0HC5	BRIDGES 2ED GR K HOME CONNECTIONS BOOK 5/PKG	14.00	\$36.00	50.00%	\$252.00
CLAY	MODELING CLAY 4 COLORS 1 LB NON-HARDENING	6.00	\$4.00		\$24.00
PPBT	PATTERN BLOCKS - SET OF 250	9.00	\$18.00		\$162.00
SPC	STANDARD POCKET CHART	3.00	\$22.00		\$66.00
RUL10	CLEAR FLEXIBLE RULER CENTIMETERS AND INCHES 10/PKG	3.00	\$6.00		\$18.00
BPP	PAN BALANCE SCALE - 1 EACH	9.00	\$18.00		\$162.00
MBDE10	DRY MARKER BOARDS COMBO PACK 10/PKG	7.00	\$45.00		\$315.00
U1	UNIFIX CUBES 1000/PKG	3.00	\$115.00		\$345.00
2B1	Bridges 2ED Gr 1 Package (4 Boxes)	3.00	\$1,500.00		\$4,500.00
2NC1SB5	NUMBER CORNER 2ED GR 1 STUDENT BOOK 5/PKG	11.00	\$18.00	50.00%	\$99.00
2B1SB5	BRIDGES 2ED GR 1 STUDENT BOOK 5/PKG	11.00	\$18.00	50.00%	\$99.00
2B1HC5	BRIDGES 2ED GR 1 HOME CONNECTIONS BOOK 5/PKG	11.00	\$36.00	50.00%	\$198.00
PPBT	PATTERN BLOCKS - SET OF 250	9.00	\$18.00		\$162.00
SPC	STANDARD POCKET CHART	3.00	\$22.00		\$66.00
RUL10	CLEAR FLEXIBLE RULER CENTIMETERS AND INCHES 10/PKG	6.00	\$6.00		\$36.00
MBDE10	DRY MARKER BOARDS COMBO PACK 10/PKG	6.00	\$45.00		\$270.00
U1	UNIFIX CUBES 1000/PKG	3.00	\$115.00		\$345.00
2B2	Bridges 2ED Gr 2 Package (4 Boxes)	3.00	\$1,500.00		\$4,500.00
2NC2SB5	NUMBER CORNER 2ED GR 2 STUDENT BOOK 5/PKG	12.00	\$18.00	50.00%	\$108.00
2B2SB5	BRIDGES 2ED GR 2 STUDENT BOOK 5/PKG	12.00	\$18.00	50.00%	\$108.00
2B2HC5	BRIDGES 2ED GR 2 HOME CONNECTIONS BOOK 5/PKG	12.00	\$36.00	50.00%	\$216.00
PPBT	PATTERN BLOCKS - SET OF 250	9.00	\$18.00		\$162.00
SPC	STANDARD POCKET CHART	3.00	\$22.00		\$66.00
RUL10	CLEAR FLEXIBLE RULER CENTIMETERS AND INCHES 10/PKG	6.00	\$6.00		\$36.00
MBDE10	DRY MARKER BOARDS COMBO PACK 10/PKG	6.00	\$45.00		\$270.00
J1	UNIFIX CUBES 1000/PKG	3.00	\$115.00		\$345.00
2B3	Bridges 2ED Gr 3 Package (4 Boxes)	3.00	\$1,500.00		\$4,500.00

Sales Order Quote

2NC3SB5	NUMBER CORNER 2ED GR 3 STUDENT BOOK 5/PKG	14.00	\$18.00	50.00%	\$126.00
2B3SB5	BRIDGES 2ED GR 3 STUDENT BOOK 5/PKG	14.00	\$36.00	50.00%	\$252.00
2B3HC5	BRIDGES 2ED GR 3 HOME CONNECTIONS BOOK 5/PKG	14.00	\$36.00	50.00%	\$252.00
TI01	TI-108 CALCULATOR	34.00	\$9.50		\$323.00
U1	UNIFIX CUBES 1000/PKG	3.00	\$115.00		\$345.00
CLAY	MODELING CLAY 4 COLORS 1 LB NON-HARDENING	30.00	\$4.00		\$120.00
SPC	STANDARD POCKET CHART	3.00	\$22.00		\$66.00
RUL10	CLEAR FLEXIBLE RULER CENTIMETERS AND INCHES 10/PKG	7.00	\$6.00	1	\$42.00
MBDE10	DRY MARKER BOARDS COMBO PACK 10/PKG	7.00	\$45.00		\$315.00
2B4	Bridges 2ED Gr 4 Package (4 Boxes)	3.00	\$1,500.00	İ	\$4,500.00
2NC4SB5	NUMBER CORNER 2ED GR 4 STUDENT BOOK 5/PKG	15.00	\$18.00	50.00%	\$135.00
2B4SB5	BRIDGES 2ED GR 4 STUDENT BOOK 5/PKG	15.00	\$36.00	50.00%	\$270.00
2B4HC5	BRIDGES 2ED GR 4 HOME CONNECTIONS BOOK 5/PKG	15.00	\$36.00	50.00%	\$270.00
TI01	TI-108 CALCULATOR	36.00	\$9.50		\$342.00
CLAY	MODELING CLAY 4 COLORS 1 LB NON-HARDENING	15.00	\$4.00		\$60.00
SPC	STANDARD POCKET CHART	3.00	\$22.00	:	\$66.00
RUL10	CLEAR FLEXIBLE RULER CENTIMETERS AND INCHES 10/PKG	8.00	\$6.00		\$48.00
2B5	Bridges 2ED Gr 5 Package (4 Boxes)	3.00	\$1,500.00	1	\$4,500.00
2NC5SB5	NUMBER CORNER 2ED GR 5 STUDENT BOOK 5/PKG	15.00	\$18.00	50.00%	\$135.00
2B5SB5	BRIDGES 2ED GR 5 STUDENT BOOK 5/PKG	15.00	\$36.00	50.00%	\$270.00
2B5HC5	BRIDGES 2ED GR 5 HOME CONNECTIONS BOOK 5/PKG	15.00	\$36.00	50.00%	\$270.00
TI01	TI-108 CALCULATOR	37.00	\$9.50	!	\$351.50
SPC	STANDARD POCKET CHART	3.00	\$22.00		\$66.00
RUL10	CLEAR FLEXIBLE RULER CENTIMETERS AND INCHES 10/PKG	8.00	\$6.00		\$48.00

\$35,354.50	Total Price
10.00%	Freight %
\$3,535.45	Freight Amount
\$38.889.95	Grand Total

As of January 25, 2021, our shipping/handling fees have changed.

- A standard shipping/handling fee of 10% is applied to the order total.
- The shipping and handling fee is reduced to 7% for purchase orders paid by check or ACH.
 All orders are subject to a minimum \$10 fee.

Please Note: Above quote does not reflect taxes that may be incurred on freight. This will be included in your final invoices.

Sales Order Quote



The Math Learning Center P.O. BOX 12929 Salem, OR 97309-0929 1-800-575-8130 Fax 503-961-0132 mathlearningcenter.org Quote Number

00012530

Customer Number

Quote Date

0701446 3/30/2022

Expiration Date

9/15/2022

Address Information

Bill To Name

Bigfork School District 38

Bill To

600 Commerce St

Bigfork, Montana 59911-3677

United States

Ship To Name

Bigfork School District 38

Ship To

600 Commerce St

Bigfork, Montana 59911-3677

United States

Product Code	Product	Quantity	Sales Price	Discount	Total Price
2BINTS1	Bridges Intervention Set 1	1.00	\$975.00	10.00%	\$877.50
MBDE10	DRY MARKER BOARDS COMBO PACK 10/PKG	1.00	\$45.00		\$45.00
PPBT	PATTERN BLOCKS - SET OF 250	1.00	\$18.00		\$18.00
U1	UNIFIX CUBES 1000/PKG	1.00	\$115.00		\$115.00
2BINTS2	Bridges Intervention Set 2	1.00	\$975.00	10.00%	\$877.50
MBDE10	DRY MARKER BOARDS COMBO PACK 10/PKG	1.00	\$45.00		\$45.00
RUL10	CLEAR FLEXIBLE RULER CENTIMETERS AND INCHES 10/PKG	2.00	\$6.00		\$12.00
TI01	TI-108 CALCULATOR	6.00	\$9.50		\$57.00
UH	UNIFIX CUBES 500/PKG	1.00	\$60.00		\$60.00

Total Price	\$2,107.00
Freight %	10.00%
Freight Amount	\$210.70
Grand Total	\$2,317.70

As of January 25, 2021, our shipping/handling fees have changed.

• A standard shipping/handling fee of 10% is applied to the order total.

• The shipping and handling fee is reduced to 7% for purchase orders paid by check or ACH.

· All orders are subject to a minimum \$10 fee.

Please Note: Above quote does not reflect taxes that may be incurred on freight. This will be included in your final invoices.